### ITEMS REQUIRING BOCC APPROVAL February 16, 2022 (7 Items)

#### 1. BRIDGE IMPROVEMENTS (B504) -- PUBLIC WORKS <u>FUNDING -- PUBLIC WORKS</u>

(Request sent to 46 vendors)

RFB #22-0004 S/C #Pending

Engineer's Estimate: \$606,117.00	Pbx Corporation	PCi Roads LLC
Bridge Improvements (B504) 801-E-1300; Bridge on 151st Street West between 85th and 93rd Streets North	\$464,938.65	\$1,024,511.80
Bid Bond	Yes	Yes
Acknowledge Addendum	Yes	Yes
No Bids	L & M Contractors, Inc.	Unruh Excavating

On the recommendation of Lee Barrier, on behalf of Public Works, Anna Meyerhoff-Cole moved to accept the low bid from Pbx Corporation in the amount of \$464,938.65. Russell Leeds seconded the motion. The motion passed unanimously.

Sedgwick County CIP Project B504 consists of repair work to a bridge originally constructed in 1966, located on 151st Street West between 85th and 93rd Streets North. The bridge is structurally deficient with a sufficiency rating of 36.7 out of 100. This is only one (1) of two (2) bridges that provides a crossing over the Arkansas River in northwest Sedgwick County. This project will limit closure time and provide continued safe use of this route without the need to fully reconstruct the bridge.

#### **Questions and Answers**

Tim Myers: Has Pbx Corporation done work for us in the past?

Lynn Packer: Pbx Corporation I believe has done work for us but it has been probably twenty or so years since then. They are out of Oklahoma and typically do work in that area and southeast Kansas. They come up here when we are short on contractors or when work down there is limited.

# 2. ROAD IMPROVEMENTS (R359) -- PUBLIC WORKS FUNDING -- R359 95th St S for 1/2 mi E of 135th W

(Request sent to 46 vendors)

RFB #22-0005 S/C #8000196837

Engineer's Estimates Base Bid: \$431,587.50 Alternate 1: \$1,099,537.00 Alternate 2: \$860,045.00	APAC-Kansas, Inc.	Cornejo & Sons, LLC				
Road Improvements (R359) 95th Street South, for one half mile east of 135th Street West	Base Bid: \$460,591.10 Alternate 2: \$812,194.85	Base Bid: \$453,642.52 Alternate 2: \$841,686.27				
Bid Bond	Yes	Yes				
Acknowledge Addendum	Yes	Yes				
	Conspec Inc., dba Kansas Paving	Pearson Construction, LLC				
Road Improvements (R359) 95th Street South, for one half mile east of 135th Street West	Base Bid: \$403,051.10 Alternate 1: \$1,104,181.85 Alternate 2: \$865,113.60	Base Bid: \$400,626.50 <b>Alternate 1: \$881,845.25</b> Alternate 2: \$779,560.25				
Bid Bond	Yes	Yes				
Acknowledge Addendum	Yes	Yes				
	Wildcat Co	onstruction				
Road Improvements (R359) 95th Street South, for one half mile east of 135th Street West	Base Bid: \$519,965.15 Alternate 1: \$1,025,576.05					
Bid Bond	Yes					
Acknowledge Addendum	Y	es				
No Bid	L & M Contractors, Inc.	Nowak Construction Co., Inc.				

On the recommendation of Lee Barrier, on behalf of Public Works, Tim Myers moved to accept the low bid from Pearson Construction, LLC (Alternate 1) in the amount of \$881,845.25. Jeff Bush seconded the motion. The motion passed unanimously.

Sedgwick County CIP Project R359 will construct a paved road on 95th Street South for one-half mile east of 135th Street West. This is an existing gravel road and traffic is expected to increase due to recent industrial development. Bids were submitted for both asphalt and concrete paving. Public Works recommends the concrete pavement option. Concrete is a better long-term solution in and around industrial parks, and the minor increase in overall project costs is easily offset with a reduction in future maintenance costs. Pearson Construction, LLC is well known to Public Works and has successfully worked on several past county projects.

#### **Questions and Answers**

Anna Meyerhoff-Cole: Can we get more information on the difference between the options? There is a base bid, an alternate 1, and alternate 2.

Lynn Packer: The differences in the alternates is either going with concrete paving with pavement marking specific concrete or with asphalt paving with the typical markings we use for asphalt. Those were the two (2) differences in the alternates. We got a really good bid on the concrete and we feel for the additional cost it's well worth it given this will have a high degree of truck traffic in an industrial park that will continue to grow.

Russell Leeds: What is the base bid price? If alternate 1 is concrete and alternate 2 is asphalt ,what is the base bid?

Lynn Packer: The base bid consists of earthwork, base preparation, ditches, guardrails, culvert structure. It includes mobilization of everything else out there except the surfacing for the work to be done.

Anna Meyerhoff-Cole: Is the cost of the work being done in the base bid included in the alternate 1 price or does the alternate 1 price just include paving?

Lynn Packer: The alternates includes the base bid.

# 3. 2 EA. TANDEM AXLE DUMP TRUCKS EQUIPPED WITH SALT/SAND SPREADER AND LIQUID ANTI-ICING AND DE-ICING SYSTEM -- FLEET MANAGEMENT / PUBLIC WORKS FUNDING -- FLEET MANAGEMENT / PUBLIC WORKS

(Joint Governmental Purchase - Sourcewell Contract #060920-KTC)

#22-2007 S/C #Pending

	Wichita Kenworth (Master Tech)				
	Unit Price Extended Price				
2 Ea. Tandem Axle Dump Trucks Equipped with Salt/Sand Spreader and Liquid Anti-Icing and De-Icing System	\$289,640.00	\$579,280.00			
Make & Model	2023 Kenworth T880 MX13				
Lead Time for Chassis	6/15/2022				

On the recommendation of Britt Rosencutter, on behalf of Fleet Management and Public Works, Anna Meyerhoff-Cole moved to **utilize the Sourcewell contract #060920-KTC in the amount of \$579,280.00.** Tim Myers seconded the motion. The motion passed unanimously.

These trucks are used to haul a variety of items and are used daily. They haul materials to job sites on the roadways, bridge projects, and stream maintenance. Materials like sand, asphalt, dirt, rock for rock shouldering projects, rip-rap around bridges and streams, chip rock for roadway scrub seal, and other items that need to be hauled to project sites. They haul trees and debris from streams and bridges. They are utilized in the event of a natural disaster. The trucks will have spreaders and plows put on them to be used during snow and ice operations, and spray tanks to anti-ice before a snow event.

#### **Notes:**

Wichita Kenworth provides the chassis and Master Tech Truck and Equipment build and attach the dump bed and spreader/de-icer system.

#### Vehicles being replaced:

Fleet #0063 - 2010 PETERBILT 365, VIN# - 1NPSL50X9BD120149, Total Points - 17.6, Mileage - 202,604 Fleet #0193 - 2011 PETERBILT 365, VIN# - 1NPSL50X5BD120147, Total Points - 19.8, Mileage - 237,622

These are replacement vehicles for Public Works. Surplus will be sold on Purple Wave Auction.

### **Questions and Answers**

Tim Myers: When do we expect to have these vehicles ready and in service?

Beau Bergeron: We don't know yet. We have a six (6) month lead time on the chassis and usually its four (4) to five (5) months on the set up of the bed but it will depend on logistics of getting materials.

Russell Leeds: I notice in the notes these are eleven and twelve year old trucks that exceed the point system. What is the wear and tear on these trucks? Rust damage and engine trouble?

Beau Bergeron: Yes. They are both severely well used. One of them over the last five (5) years we have put over \$50,000.00 just to keep it running. They are the worst of the bad ones we have so they are up first.

# 4. AMBULANCES AND REMOUNTS - EMERGENCY MEDICAL SERVICES (EMS) / FLEET MANAGEMENT FUNDING -- FLEET MANAGEMENT

(Joint Governmental Purchase - HGACBuy Contract No. AEV-AM10-20)

#22-2012 S/C Pending

		American Response Vehicles (ARV) & American Emergency Vehicles (AEV)		
	Qty.	Qty. Unit Cost Extended Cost		
2023 AEV Traumahawk Type III X-Series LTD Custom Ambulances Ford F550, 7.3L V8 Gasoline Engine	5	\$305,422.60	\$1,527,113.00	
Delivery date		360-420 days after app	roval of the work order confirmation	
2023 AEV Traumahawk Type III X-Series LTD Custom Remount Ambulances Ford E450, 7.3L V8 Gasoline Engine	2	\$169,452.50	\$338,905.00	
Delivery date		90 to 150 days after receipt of ambulances and chassis		
Tota	1 7	\$1,866,018.00		

On the recommendation of Britt Rosencutter, on behalf of Emergency Medical Services (EMS) / Fleet Management, Anna Meyerhoff-Cole moved to utilize HGACBuy Contract No. AEV-AM10-20 with American Response Vehicles (ARV) & American Emergency Vehicles (AEV) in the amount of \$1,866,018.00. Jeff Bush seconded the motion. The motion passed unanimously.

Sedgwick County Fleet Management and EMS partnered with American Emergency Vehicles (AEV) in the construction of all new ambulances in 2012. Since that time, the county has taken delivery of 25 new ambulances and currently has seven (7) new ambulances under construction. Delivery of these ambulances is scheduled for July 2022.

Ambulances are made-to-order products with various layouts and requirements. EMS requires standardization in the construction of its ambulances. This is critical in order to facilitate timely response and care of patients. This standardization also provides a safer working environment for responders when working on-scene with patients. This standardization is also endorsed by our Ambulance Accreditation, CAAS (Commission on Accreditation of Ambulance Services). The county currently has 29 front line ambulances in the fleet, all built to the same specifications.

In 2013, AEV started remounting all our current ambulances and have completed 17 remounts. We have two (2) additional remounted ambulances that are scheduled to be complete and delivered in early March 2022. The remount process is where the ambulance module, or box, is removed from the vehicle chassis. The box is completely refurbished with new flooring, seats, interior cabinet doors, exterior paint, and decals. All electrical systems are tested and evaluated for any upgrades. Broken or damaged interior and exterior compartments are repaired and the heating and cooling system is evaluated for repairs. The box is then placed on a new current model year chassis and then delivered back to Sedgwick County.

For an ambulance to qualify under the HGACBuy Group, it must meet 75% of the base standard published options group. The customized portion of the ambulance cannot exceed 25% of the construction. The specifications for Sedgwick County's ambulances meet the 75% base standard and consists of just 5% customizable options.

AEV is in Jefferson, North Carolina and produces about 1,400 of the 5,000 new ambulances constructed in the United States every year. AEV's parent company, REV Group, owns five (5) other ambulance manufacturers and along with AEV, constructs 45%-50% of all new ambulances produced in the United States.

The ambulance modules (box) used by AEV are constructed by Mickey Truck Bodies (Mickey) in High Point, North Carolina. Mickey is a national company that has been in business since 1904. Mickey manufactures aluminum beverage truck bodies, beverage trailers, dry freight, refrigerated van bodies, emergency vehicles, and specially engineered equipment for customers throughout the U.S. and more than 50 other countries. Mickey only produces ambulance modules for AEV and they have been working together since 1991.

#### Notes

All ambulances are required under the Federal KKK-A-1842F to be compliant with all minimum federal safety standards. AEV sets the industry standard for vehicle safety. AEV is the only ambulance manufacturer that has performed extensive crash testing on their ambulances and complies with the Federal Motor Vehicle Safety Standard. They also work with the Society of Automotive Engineers (SAE) in the design and testing of occupant seating and restraint systems for personnel being transported in the patient compartment. AEV has also made Fleet Management an authorized warranty repair center for all county ambulances.

Ford QVM (Qualified Vehicle Modifier) Program is Ford Motor Company's quality recognition given to aftermarket adaptive equipment installers that meet manufacturing "best practice" guidelines. Ford Motor Company developed the QVM program to assist builders in achieving greater levels of customer satisfaction and product acceptance through the manufacturing of high-quality conversion vehicles. To qualify as a QVM, a modifier must be successfully evaluated by Ford Motor Company on criteria such as engineering, the manufacturing process, quality control, and adherence to Ford guidelines. AEV has been a member of the Ford QVM program since 2010. AEV has also been recognized as a "Carolina Star Worksite" by the North Carolina Department of Labor for total commitment to creating and maintaining a safe and healthy workplace.

In 2021, the EMS was dispatched to 69,823 calls with 46,795 patients transported. As a service, we have driven 1,173,904 miles in 2021 and are projected to drive close to 1,225,000 miles by the end of 2022.

A new ambulance from AEV will cost \$305,422.60 and will have a life span of four (4) to five (5) years depending on miles driven and overall condition. A remounted ambulance costs \$169,452.50 and will also have the same four (4) to five (5) year life span. The cost savings for remounting an ambulance versus purchasing new is \$135,970.00 per ambulance. Over the next five (5) years, EMS and Fleet anticipate remounting 26 ambulances, saving the county approximately \$3,535,222.00 as opposed to purchasing new ambulances.

#### **Questions and Answers**

Russell Leeds: Paul, just for clarification, we are currently running 29 ambulances? Are those in service and reserve ambulances combined?

Paul Gibson: That is correct, 29 ambulances. We run 19 ambulances 24 hours a day, 12 of those 19 run 12 hours at night. We run 10 spare trucks at this time.

Russell Leeds: Right before the end of the year we placed an order for seven (7) new vehicles, is that correct?

Paul Gibson: Correct. We placed an order in June of 2021 for seven (7) brand new ambulances. Due to delays in materials, and everything else that has been going on, the delivery dates have been pushed from December of 2021 to July of 2022.

Russell Leeds: This item we are going to replace five (5) additional ambulances. Right, we're going to buy five (5) new ones to replace five (5) and we are going to remount two (2)?

Paul Gibson: Yes. Five (5) are additional trucks that have met the points criteria. They range in miles from 170,000 to 228,000 miles right now. If order placed today, the anticipated delivery is approximately August or September of 2023. We estimate an additional 40,000 miles to be placed on these trucks between now and that time.

Russell Leeds: The remounts will still be on the old frames but the new ones will be the F550 frame with the bigger chassis?

Paul Gibson: Yes. That is correct.

# 5. MEDICAL GRADE OXYGEN -- EMERGENCY MEDICAL SERVICES (EMS) AND VARIOUS DEPARTMENTS $\underline{FUNDING-EMS}$

(Request sent to 68 vendors)

RFB #21-0034 Contract

	Wichita Welding Supply, Inc.			
Medical Grade Oxygen	See Itemiza	ntions Attached		
Acknowledge Addendum	Yes			
	Airgas Mid South	Boone Opportunities		
	Central Gas Service LLC	Grainger Industrial Supply		
	Hampel Oil Distributors Inc	Heathwood Oil Co., Inc.		
No Bid	Lampton Welding Supply	Murdock Companies Inc		
	Phillips Enterprises	Propane Central LLC		
	Saratoga Rack Marketing LLC	Shepherd Oil Co.		
	Waym	an Oil Co.		

On the recommendation of Britt Rosencutter, on behalf of EMS and various departments, Tim Myers moved to accept the bid from Wichita Welding Supply, Inc. at the rates listed (see attachment) and establish contract pricing for one (1) year with four (4) one (1) year options to renew. Kenly Zehring seconded the motion. The motion passed unanimously.

Oxygen will be used by Sedgwick County EMS, Sedgwick County Fire District 1, Wichita Fire, Derby Fire, and Colwich Fire Departments. EMS relies on our first responder partners on almost all emergent calls. Maintaining oxygen to these allied services assists in providing critical emergency care until a responding EMS ambulance arrives.

This contract will provide Medical Grade Oxygen in the "M" and Jumbo "D" sized cylinders, along with OSHA approved cylinder storage cabinets. It will also provide maintenance on all cylinders as needed, annual testing, and FDA certification on all cylinders.

Oxygen deliveries are made several times a week to the four (4) major hospitals and to 32 separate fire stations throughout Wichita and Sedgwick County. On a monthly average, all services use approximately 400 - 600 Jumbo "D" cylinders and 60 - 80 "M" cylinders.

#### Notes

Sedgwick County EMS has been using Wichita Welding Supply, Inc. for all its medical oxygen needs dating back to the mid 1990's. Wichita Welding Supply, Inc. has always provided EMS with 24/7 support, emergency deliveries, and additional cylinders when needed. This proved to be essential during the height of EMS Covid responses over the past two (2) years.

Wichita Welding Supply, Inc. is the current vendor. Last year's spend was approximately \$78,949.95.

### **Questions and Answers**

Russell Leeds: Can you tell us whether or not there was an increase in the pricing due to inflation or did the pricing stay pretty consistent?

Paul Gibson: We did see a small percentage increase, probably less than 5% across the board on the cylinder rental and the oxygen usage as well.

Russell Leeds: So we can anticipate a 5% increase over the \$79,000.00 from last year?

Paul Gibson: Probably, yes.

Russell Leeds: Wichita Welding was the only one to bid?

Paul Gibson: Yes. Purchasing sent the proposal out to numerous vending sources. Wichita Welding was the only one to return a bid.

Russell Leeds: They've been our supplier for a while?

Paul Gibson: We've been dealing with Wichita Welding for medical oxygen since the mid-1990s.

	Medical Grade Oxygen OWNED CYLINDER DELIVERED SUMMARY						
		Annual Pricing per Depart	ment (Per Pricing should match Ite	mized Pricing Per Depart	tment Location)		
Department	Department Cylinder Type Safety Stock Quantity Vehicle Quantity Total Required Price per Cylinder Total						
Sedgwick County EMS	M Cylinder	40	30	72	\$10.75	\$774.00	
Sedgwick County EMS	Jumbo D Cylinder	165	75	240	\$8.00	\$1,920.00	
Sedgwick County Fire Dept.	Jumbo D Cylinder	63	27	90	\$8.00	\$720.00	
Wichita Fire Dept.	Jumbo D Cylinder	124	65	189	\$8.00	\$1,512.00	
Derby Fire Dept.	Jumbo D Cylinder	12	6	18	\$8.00	\$144.00	
Colwich Fire Dept.	Jumbo D Cylinder	3	6	9	\$8.00	\$72.00	

Medical Grade Oxygen OWNED CYLINDER DELIVERED ITEMIZED							
	Iten		ocation DELIVERED (Per Pricing				1
Sedgwick County Fire Stations	Address	Jumbo 'D' Cylinder Safety Stock (Stations)	Jumbo 'D' Vehicle Quantity	"M" Cylinder Safety Stock (Stations)	"M" Cylinder Vehicle Quantity	Price per Cylinder	Total
Station 31	5848 N. 247th St. W. Andale, KS 67001	4	2	-	-	\$8.00	\$48.00
Station 32	7750 N. Wild West Dr. Park City, KS 67147	11	4	-	-	\$8.00	\$120.00
Station 33	10625 W 53rd St. N. Maize, KS 67101	9	3	-	-	\$8.00	\$96.00
Station 34	334 N. Main Haysville, KS 67060	7	3	-	-	\$8.00	\$80.00
Station 35	1535 S. 199th St. W. Goddard, KS 67052	5	3	-	-	\$8.00	\$64.00
Station 36	5055 S Oliver St Wichita, KS 67210	5	3	-	-	\$8.00	\$64.00
Station 37	4343 N. Woodlawn Blvd Bel Aire, KS 67220	8	4	-	-	\$8.00	\$96.00
Station 38	1010 N. 143rd St. E. Wichita, KS 67230	7	3	-		\$8.00	\$80.00
Station 39	3610 S. 263rd St. W. Garden Plain, KS 67052	7	2	-	-	\$8.00	\$72.00
Wichita Fire Stations	Address	Jumbo 'D' Cylinder Safety Stock (Stations)	Jumbo 'D' Vehicle Quantity	"M" Cylinder Safety Stock (Stations)	"M" Cylinder Vehicle Quantity	Price per Cylinder	Total
Station 1	731 N Main Wichita, KS 67203	12	8	-	-	\$8.00	\$160.00
Station 2	1240 S Broadway Wichita, KS 67211	11	7	-	-	\$8.00	\$144.00
Station 3	3261 N Broadway Wichita, KS 67219	6	3	-	-	\$8.00	\$72.00
Station 4	2423 W Irving Wichita, KS 67213	7	3	-		\$8.00	\$80.00
Station 5	257 N Hillside Wichita, KS 67214	4	2	-		\$8.00	\$48.00
Station 7	2346 N Coolidge Wichita, KS 67204	6	3	-	-	\$8.00	\$72.00
Station 8	661 N Elder Wichita, KS 67212	6	3	-	-	\$8.00	\$72.00
Station 9	350 S Edgemoor Wichita, KS 67218	6	3	-	-	\$8.00	\$72.00
Station 10	2950 E 21st St N Wichita, KS 67206	6	3	-	-	\$8.00	\$72.00
Station 11	1845 George Washington Blvd Wichita, KS 67218	6	3	-	-	\$8.00	\$72.00
Station 12	3443 S Meridian	6	3	-	-	\$8.00	\$72.00
Station 13	Wichita, KS 67217 3162 W 42nd St N	6	3	-	-	\$8.00	\$72.00
Station 14	Wichita, KS 67204 6408 Farmview	4	2	-	-	\$8.00	\$48.00
Station 15	Wichita, KS 67206 7923 E Lincoln	4	2	-	-	\$8.00	\$48.00
Station 16	Wichita, KS 67207 1632 N Tyler	6	3	-	-	\$8.00	\$72.00
Station 17	Wichita, KS 67212 10651 W Maple	4	2	_	-	\$8.00	\$48.00
Station 18	Wichita, KS 67209 2808 N Webb	6	3	_	_	\$8.00	\$72.00
Station 19	Wichita, KS 67226 4440 S Broadway	6	3		_	\$8.00	\$72.00
Station 20	Wichita, KS 67216 2255 S Greenwich	4	2	-	-	\$8.00	\$48.00
Station 21	Wichita, KS 67207 2110 N 135th St W	4	2		-	\$8.00	\$48.00
	Wichita, KS 67235 2659 S Hydraulic	4	2	-	-		
Station 22	Wichita, KS 67211	Jumbo 'D' Cylinder Safety		"M" Cylinder Safety	"M" Cylinder Vehicle	\$8.00	\$48.00
Derby Fire Station Station 81	Address 715 E. Madison	Stock (Stations)	Jumbo 'D' Vehicle Quantity	Stock (Stations)	Quantity	Price per Cylinder	Total
	Derby, KS 67037	Jumbo 'D' Cylinder Safety		"M" Cylinder Safety	"M" Cylinder Vehicle	\$8.00	\$144.00
Colwich Fire Station Station 55	Address 116 N. 3 <sup>rd</sup> St. Colwich	Stock (Stations)	Jumbo 'D' Vehicle Quantity	Stock (Stations)	Quantity	Price per Cylinder \$8.00	Total \$72.00
Sedgwick County EMS	Address	Jumbo 'D' Cylinder Safety Stock (Stations)	Jumbo 'D' Vehicle Quantity	"M" Cylinder Safety Stock (Stations)	"M" Cylinder Vehicle Quantity	Price per Cylinder	Total
Via Christi St. Francis	929 N. St Francis Wichita, KS 67214	Stock (Stations)	20	20	10	\$8.00 (JD) / \$10.75 (M)	\$560.00 (JD) / \$322.50 (M)
Wesley Medical Center	550 E. Hillside Wichita, KS 67214	50	20	-	10	\$8.00 (JD) / \$10.75 (M)	\$560.00 (JD) / \$107.50 (M)
Via Christi St. Joseph	3400 E. Grand Wichita, KS 67218	50	20	20	10	\$8.00 (JD) / \$10.75 (M)	\$560.00 (JD) / \$322.50 (M)
Via Christi St. Teresa	14800 W. St. Teresa	15	15		2	\$8.00 (JD) / \$10.75 (M)	\$240.00 (JD) /
t	Wichita, KS 67235	1					\$21.50 (M)

Medical Grade Oxygen RENTED CYLINDER DELIVERED SUMMARY  Annual Pricing per Department (Per Pricing should match totaled Itemized Pricing Per Department Location)						
Department Cylinder Type Safety Stock Quantity Vehicle Quantity Total Required Price per Cylinder Rental (Monthly)  Total Required Rental (Monthly)					Total	
Sedgwick County EMS	M Cylinder	40	30	72	\$2.50	\$180.00
Sedgwick County EMS	Jumbo D Cylinder	165	75	240	\$2.00	\$480.00
Sedgwick County Fire Dept.	Jumbo D Cylinder	63	27	90	\$2.00	\$180.00
Wichita Fire Dept.	Jumbo D Cylinder	124	65	189	\$2.00	\$378.00
Derby Fire Dept.	Jumbo D Cylinder	12	6	18	\$2.00	\$36.00

		Medical Grade Oxy	gen RENTED CYLINDI	ER DELIVERED	ITEMIZED		
	Itemizeo		tion DELIVERED (Per Pricing sho				
Sedgwick County Fire Stations	Address	Stock (Stations)	Jumbo 'D' Vehicle Quantity	Stock (Stations)	Quantity	Price per Cylinder/Cage Rental (Monthly)	Total
Station 31	5848 N. 247th St. W. Andale, KS 67001	4	2	-	-	\$2.00	\$12.00
Station 31 Cylinder Cage	5848 N. 247th St. W. Andale, KS 67001					\$6.00	\$6.00
Station 32	7750 N. Wild West Dr. Park City, KS 67147	11	4	-	-	\$2.00	\$30.00
Station 32 Cyinder Cage	7750 N. Wild West Dr. Park City, KS 67147					\$6.00	\$6.00
Station 33	10625 W 53rd St. N. Maize, KS 67101	9	3	-	-	\$2.00	\$24.00
Station 33 Cylinder Cage	10625 W 53rd St. N. Maize, KS 67101					\$6.00	\$6.00
Station 34	334 N. Main Haysville, KS 67060	7	3	-	-	\$2.00	\$20.00
Station 34 Cylinder Cage	334 N. Main Haysville, KS 67060					\$6.00	\$6.00
Station 35	1535 S. 199th St. W. Goddard, KS 67052	5	3	-	-	\$2.00	\$16.00
Station 35 Cylinder Cage	1535 S. 199th St. W. Goddard, KS 67052					\$6.00	\$6.00
Station 36	5055 S Oliver St Wichita, KS 67210	5	3	-	-	\$2.00	\$16.00
Station 36 Cylinder Cage	5055 S Oliver St					\$6.00	\$6.00
Station 37	Wichita, KS 67210 4343 N. Woodlawn Blvd	8	4	-	-	\$2.00	\$24.00
Station 37 Cylinder Cage	Bel Aire, KS 67220 4343 N. Woodlawn Blvd					\$6.00	\$6.00
Station 38	Bel Aire, KS 67220 1010 N. 143rd St. E.	7	3	-		\$2.00	\$20.00
Station 38 Cylinder Cage	Wichita, KS 67230 1010 N. 143rd St. E.					\$6.00	\$6.00
Station 39	Wichita, KS 67230 3610 S. 263rd St. W.	7	2	_	-		
	Garden Plain, KS 67052 3610 S. 263rd St. W.	7	2	-	-	\$2.00	\$18.00
Station 39 Cylinder Cage	Garden Plain, KS 67052	Jumbo 'D' Cylinder Safety		"M" Cylinder Safety	"M" Cylinder Vehicle	\$6.00	\$6.00
Wichita Fire Stations	Address 731 N Main	Stock (Stations)	Jumbo 'D' Vehicle Quantity	Stock (Stations)	Quantity	Price per Cylinder/Cage Rental (Monthly)	Total
Station 1	Wichita, KS 67203 731 N Main	12	8	-	-	\$2.00	\$40.00
Station 1 Cylinder Cage	Wichita, KS 67203					\$6.00	\$6.00
Station 2	1240 S Broadway Wichita, KS 67211	11	7	-	-	\$2.00	\$36.00
Station 2 Cylinder Cage	1240 S Broadway Wichita, KS 67211					\$6.00	\$6.00
Station 3	3261 N Broadway Wichita, KS 67219	6	3	-	-	\$2.00	\$18.00
Station 3 Cylinder Cage	3261 N Broadway Wichita, KS 67219					\$6.00	\$6.00
Station 4	2423 W Irving Wichita, KS 67213	7	3	-	-	\$2.00	\$20.00
Station 4	2423 W Irving Wichita, KS 67213					\$6.00	\$6.00
Station 5	257 N Hillside Wichita, KS 67214	4	2	-	-	\$2.00	\$12.00
Station 5 Cylinder Cage	257 N Hillside Wichita, KS 67214					\$6.00	\$6.00
Station 7	2346 N Coolidge Wichita, KS 67204	6	3	-	-	\$2.00	\$18.00
Station 7 Cylinder Cage	2346 N Coolidge					\$6.00	\$6.00
Station 8	Wichita, KS 67204 661 N Elder	6	3	-	-	\$2.00	\$18.00
Station 8 Cylinder Cage	Wichita, KS 67212 661 N Elder					\$6.00	\$6.00
Station 9	Wichita, KS 67212 350 S Edgemoor	6	3	_	-	\$2.00	\$18.00
Station 9 Cylinder Cage	Wichita, KS 67218 350 S Edgemoor					\$6.00	\$6.00
Station 10	Wichita, KS 67218 2950 E 21st St N	(	3	_	-		
-	Wichita, KS 67206 2950 E 21st St N	6	3	-	-	\$2.00	\$18.00
Station 10 Cylinder Cage	Wichita, KS 67206 1845 George Washington Blvd					\$6.00	\$6.00
Station 11	Wichita, KS 67218 1845 George Washington Blvd	6	3	-	-	\$2.00	\$18.00
Station 11 Cylinder Cage	Wichita, KS 67218 3443 S Meridian					\$6.00	\$6.00
Station 12	Wichita, KS 67217	6	3	-	-	\$2.00	\$18.00
Station 12 Cylinder Cage	3443 S Meridian Wichita, KS 67217					\$6.00	\$6.00
Station 13	3162 W 42nd St N Wichita, KS 67204	6	3	-	-	\$2.00	\$18.00
Station 13 Cylinder Cage	3162 W 42nd St N Wichita, KS 67204					\$6.00	\$6.00
Station 14	6408 Farmview Wichita, KS 67206	4	2	-	-	\$2.00	\$12.00
Station 14 Cylinder Cage	6408 Farmview Wichita, KS 67206					\$6.00	\$6.00
Station 15	7923 E Lincoln Wichita, KS 67207	4	2	-	-	\$2.00	\$12.00
Station 15 Cylinder Cage	7923 E Lincoln Wichita, KS 67207					\$6.00	\$6.00
Station 16	1632 N Tyler Wichita, KS 67212	6	3	-	-	\$2.00	\$18.00
Station 16 Cylinder Cage	1632 N Tyler Wichita, KS 67212					\$6.00	\$6.00
Station 17	10651 W Maple	4	2	-	-	\$2.00	\$12.00
Station 17 Cylinder Cage	Wichita, KS 67209 10651 W Maple					\$6.00	\$6.00
Station 18	Wichita, KS 67209 2808 N Webb	6	3	-	-	\$2.00	\$18.00
	Wichita, KS 67226	Ĭ				92.00	\$10.0 <b>U</b>

Station 18 Cylinder Cage	2808 N Webb Wichita, KS 67226					\$6.00	\$6.00
Station 19	4440 S Broadway Wichita, KS 67216	6	3	-	-	\$2.00	\$18.00
Station 19 Cylinder Cage	4440 S Broadway Wichita, KS 67216					\$6.00	\$6.00
Station 20	2255 S Greenwich Wichita, KS 67207	4	2	-	-	\$2.00	\$12.00
Station 20 Cylinder Cage	2255 S Greenwich Wichita, KS 67207					\$6.00	\$6.00
Station 21	2110 N 135th St W Wichita, KS 67235	4	2	-	-	\$2.00	\$12.00
Station 21 Cylinder Cage	2110 N 135th St W Wichita, KS 67235					\$6.00	\$6.00
Station 22	2659 S Hydraulic Wichita, KS 67211	4	2	-	-	\$2.00	\$12.00
Station 22 Cylinder Cage	2659 S Hydraulic Wichita, KS 67211					\$6.00	\$6.00
Derby Fire Station	Address	Jumbo 'D' Cylinder Safety Stock (Stations)	Jumbo 'D' Vehicle Quantity	"M" Cylinder Safety Stock (Stations)	"M" Cylinder Vehicle Quantity	Price per Cylinder/Cage Rental (Monthly)	Total
Station 81	715 E. Madison Derby, KS 67037	12	6	-	-	\$2.00	\$36.00
Station 81 Cylinder Cage	715 E. Madison Derby, KS 67037					\$6.00	\$6.00
Colwich Fire Station	Address	Jumbo 'D' Cylinder Safety Stock (Stations)	Jumbo 'D' Vehicle Quantity	"M" Cylinder Safety Stock (Stations)	"M" Cylinder Vehicle Quantity	Price per Cylinder/Cage Rental (Monthly)	Total
Station 55	116 N. 3rd St. Colwich	3	6	-	-	\$2.00	\$18.00
Station 55 Cylinder Cage	116 N. 3rd St. Colwich					\$6.00	\$6.00
Sedgwick County EMS	Address	Jumbo 'D' Cylinder Safety Stock (Stations)	Jumbo 'D' Vehicle Quantity	"M" Cylinder Safety Stock (Stations)	"M" Cylinder Vehicle Quantity	Price per Cylinder/Cage Rental (Monthly)	Total
Via Christi St. Francis	929 N. St Francis Wichita, KS 67214	50	20	20	10	\$2.00 (JD) / \$2.50 (M)	\$140.00 (JD) / \$75.00 (M)
Via Christi St. Francis Cylinder Cage	929 N. St Francis Wichita, KS 67214					\$10.00	\$10.00
Wesley Medical Center	550 E. Hillside Wichita, KS 67214	50	20	-	10	\$2.00 (JD) / \$2.50 (M)	\$140.00 (JD)
Wesley Medical Center Cylinder Cage	550 E. Hillside Wichita, KS 67214					NA - Hospital provides their own Cylind	ler Cage
Via Christi St. Joseph	3400 E. Grand Wichita, KS 67218	50	20	20	10	\$2.00 (JD) / \$2.50 (M)	\$140.00 (JD) / \$75.00 (M)
Via Christi St. Joseph	3400 E. Grand Wichita, KS 67218					\$10.00	\$10.00
Via Christi St. Teresa	14800 W. St. Teresa Wichita, KS 67235	15	15	-	2	\$2.00 (JD) / \$2.50 (M)	\$60.00 (JD) / \$5.00 (M)
Via Christi St. Teresa	14800 W. St. Teresa Wichita, KS 67235					\$10.00	\$10.00

Medical Oxygen Tanks A La Carte Pricing*							
Description	Unit of Measure	Quantity/Estimated Annual Usage	Quantity/Estimated Annual Usage	Price Per Each (Tank or Gas)			
E	Purchase; EA	Infrequent; As Needed	Infrequent; As Needed	No Bid			
E2	Purchase; EA	Infrequent; As Needed	Infrequent; As Needed	No Bid			
D	Purchase; EA	Infrequent; As Needed	Infrequent; As Needed	No Bid			
D2	Purchase; EA	Infrequent; As Needed	Infrequent; As Needed	No Bid			
Medical Grade Oxygen (Gas only)	Cubic Foot	Infrequent; As Needed	Infrequent; As Needed	No Bid			

# 6. ONBASE MAINTENANCE AND SUPPORT -- DIVISION OF INFORMATION & TECHNOLOGY (DIT) $\underline{FUNDING -- DOCUMENT\ MANAGEMENT}$

(Hardware/Software Maintenance)

#22-2010 Contract

Maintenance and Support (04/01/2022 - 03/31/2023)	Konica Minolta Business Solutions USA, Inc.				
	Quantity	Item Price	Item Total		
Enterprise Application Enabler (SMA)	1	\$11,817.84	\$11,817.84		
2. OnBase Agenda (SMA)	1	\$1,147.37	\$1,147.37		
3. CD Authoring (SMA)	1	\$236.37	\$236.37		
4. COLD/ERM (SMA)	1	\$2,363.56	\$2,363.56		
5. Configuration Migration Utility (SMA)	1	\$0.00	\$0.00		
6. Concurrent Client Qty 1-100 (SMA)	50	\$216.30	\$10,815.00		
7. Concurrent Client Qty 1-100 (SMA)	100	\$330.91	\$33,091.00		
8. Concurrent Client Qty IO 1-200 (SMA)	100	\$283.63	\$28,363.00		
9. Concurrent Client Qty 201 + (SMA)	5	\$236.37	\$1,181.85		
10. Workstation Client Qty l-100 (SMA)	100	\$165.45	\$16,545.00		
11. Workstation Client Qty 101-200 (SMA)	11	\$141.80	\$1,559.80		
12. Production Document Imaging Qty 1 (SMA)	1	\$1,181.79	\$1,181.79		
13. Production Document Imaging Qty 2+ (SMA)	67	\$709.07	\$47,507.69		
14. Production Document Imaging Qty 2+ (SMA)	3	\$688.41	\$2,065.23		
15. Production Document Imaging Qty 2+ (SMA)	1	\$648.90	\$648.90		
16. Document Knowledge Transfer (SMA)	1	\$2,363.56	\$2,363.56		
17. Document Knowledge Transfer Web Access (SMA)	1	\$1,890.84	\$1,890.84		
18. EDM Services (SMA)	1	\$1,181.79	\$1,181.79		
19. Document Import Processor (SMA)	2	\$1,181.79	\$2,363.58		
20. Distributed Disk Services (SMA)	1	\$1,181.79	\$1,181.79		
21. Disconnected Scanning Module 2+ (SMA)	1	\$709.07	\$709.07		
22. DVD Authoring (SMA)	1	\$472.72	\$472.72		
23. Enclypted CD/DVD Publishing (SMA)	1	\$1,181.79	\$1,181.79		
24. Export (SMA)	1	\$1,181.79	\$1,181.79		
25. Front Office Scanning Module (SMA)	5	\$236.37	\$1,181.85		
26. Full-Text Search (SMA)	1	\$4,589.40	\$4,589.40		
27. Public Sector Constituency Web Access(SMA)	1	\$1,213.29	\$1,213.29		
28. ISIS Document Imaging 2+ (SMA)	1	\$472.72	\$472.72		
29. OnBase Multi-User License (SMA)	1	\$1,889.89	\$1,889.89		
30. Batch OCR (SMA)	5	\$354.53	\$1,772.65		
31. Integration for MS Outlooks (SMA)	1	\$2,294.73	\$2,294.73		
32. Publishing (SMA)	1	\$2,363.56	\$2,363.56		
33. PDF Input Filter (SMA)	1	\$1,772.66	\$1,772.66		
34. Virtual Print Driver (SMA)	1	\$1,181.79	\$1,181.79		
35. Reporting Dashboards (SMA)	1	\$2,100.00	\$2,100.00		
36. Records Management (SMA)	1	\$4,727.13	\$4,727.13		
37. Report Services (SMA)	1	\$1,181.79	\$1,181.79		
38. SAP Archive Link Integration (SMA)	1	\$7,090.71	\$7,090.71		
39. SAP Archive Link Print List and Data Archive (SMA)	1	\$2,363.56	\$2,363.56		
40. Business Indexing Connector for SAP ArchiveLink (SMA)	1	\$3,545.36	\$3,545.36		
41. Subscription Server Mailbox importer (SMA)	1	\$2,363.56	\$2,363.56		
42. Status View (SMA)	1	\$0.00	\$0.00		
43. Production Document Imaging Twain 2+ (SMA)	3	\$709.07	\$2,127.21		
44. Production Document Imaging Twain 2+ (SMA)	4	\$648.90	\$2,595.60		
45. Directory Import Processor (SMA)	1	\$1,181.79	\$1,181.79		
46. Unity Forms (SMA)	2	\$0.00	\$0.00		
47. Unity Toolkit (SMA)	1	\$2,363.56	\$2,363.56		
48. Unity Client Server (SMA)	1	\$2,363.56	\$2,363.56		

49. Workflow Concurrent Client SL (SMA)	20	\$519.98	\$10,399.60
50. Workflow Concurrent Client SL (SMA)	4	\$425.43	\$1,701.72
51. Workflow Named User Client SL (SMA)	2	\$330.91	\$661.82
52. Workflow Workstation Client SL (SMA)	5	\$330.91	\$1,654.55
53. Web Server (SMA)	2	\$2,363.56	\$4,727.12
54. Workflow/WorkView CC SL (SMA)	2	\$519.12	\$1,038.24
55. Workflow/WorkView CC SL (SMA)	20	\$665.47	\$13,309.40
56. Workflow/WorkView CC SL (SMA)	10	\$550.74	\$5,507.40
57. Adjustment Discount	1	-\$34,162.38	-\$34,162.38
TOTAL			\$228,625.17

On the recommendation of Tammy Culley, on behalf of Division of Information & Technology (DIT), Anna Meyerhoff-Cole moved to accept the quote from Konica Minolta Business Solutions USA, Inc. in the amount of \$228,625.17. Tim Myers seconded the motion. The motion passed unanimously.

OnBase is the county scanning and document management solution.

#### Notes

Last year the county spent \$208,031.02 for this support.

# 7. PATIENT TRANSPORTATION -- VARIOUS DEPARTMENTS FUNDING -- VARIOUS DEPARTMENTS

(Request sent to 30 vendors)

RFP #21-0072 Contract

	Apple Bus Company	Medevac MidAmerica, Inc. dba American Medical Response (AMR)
Rates for Transport of one (1) or more patients per trip not requiring restraints	•	
1. Trip from Wichita to Osawatomie State Hospital	\$434.08	\$825.00
2. Trip from Wichita to Larned State Hospital	\$416.00	\$825.00
3. Per mile rate as needed for transportation service other than to or from above hospitals	\$2.91	\$0.00
Rates for Transport of one (1) or more patients per trip requiring restraints		
1. Trip from Wichita to Osawatomie State Hospital	\$479.96	\$825.00
2. Trip from Wichita to Larned State Hospital	\$448.38	\$825.00
3. Per mile rate as needed for transportation service other than to or from above hospitals	\$2.91	\$0.00
	Medi Coach, LLC	Darfield Transportation, LLC
Rates for Transport of one (1) or more patients per trip not requiring restraints	•	
Trip from Wichita to Osawatomie State Hospital	\$579.27	Incomplete
2. Trip from Wichita to Larned State Hospital	\$659.79	Incomplete
3. Per mile rate as needed for transportation service other than to or from above hospitals	\$2.75	Incomplete
Rates for Transport of one (1) or more patients per trip requiring restraints		
Trip from Wichita to Osawatomie State Hospital	\$639.55	Incomplete
2. Trip from Wichita to Larned State Hospital	\$699.55	Incomplete
	\$2.75	Incomplete
3. Per mile rate as needed for transportation service other than to or from above hospitals	Ψ2.75	
Per mile rate as needed for transportation service other than to or from above hospitals  No Bid	Always There Senior Care, Inc.	Cerebal Palsy Research Foundation

On the recommendation of Britt Rosencutter, on behalf of various departments, Anna Meyerhoff-Cole moved to accept the best proposal from Apple Bus Company at the rates listed above and establish contract pricing for one (1) year with four (4) one (1) year options to renew. Jeff Bush seconded the motion. The motion passed four out of five with Tim Myers abstaining.

A committee comprised of Itress Tackett and Tina Prejean - COMCARE; Col. Jared Schechter and Capt. Paula Smith - Sheriff's Office; and Britt Rosencutter - Purchasing, reviewed and scored the responses based on criteria set forth in the RFP. The committee unanimously decided to recommend Apple Bus Company for award.

COMCARE of Sedgwick County is a licensed community mental health center and licensed alcohol and drug treatment provider serving Sedgwick County, Kansas. COMCARE serves approximately 19,000 individuals annually with a variety of mental and behavioral health issues.

Some of the clients served through COMCARE require transportation from the local psychiatric hospital and service provider locations to state hospitals for continued treatment or must be transported from a state hospital to a provider.

Occasionally, additional patient or inmate transportation needs arise. COMCARE and the Sheriff's Office require a transportation vendor to provide safe and efficient transportation services.

### Notes:

Apple Bus Company is our current vendor. The annual spend is approximately \$70,000.00.

This is a proposal and not a bid. Proposals are scored based on criteria set forth in our RFP. There are five (5) components to this RFP:

Component	Points
1. Meeting or exceeding all solicitation conditions and instructions as outlined herein	20
to include clarity, completeness, and comprehensiveness of the response.	
2. Ability to meet or exceed all requirements and scope of work.	20
3. Proven ability to provide high quality service.	20
4. Qualifications and expertise.	20
5. The most advantageous and prudent methodology and costs as determined by the	20
county.	
Total Points	100

## **Questions and Answers**

Russell Leeds: Apple Bus is our current vendor?

Britt Rosencutter: Correct.

Russell Leeds: This is a renewal?

Britt Rosencutter: Correct. The contract had reached its expiration so we put this back out.